ITEM NUMBER \385M1(3)1D2EL
BBL [ TEM MATL | QTY [ TEM
NO. DESCRIPTION LENGTH | WIDTH | WETGHT |cope |reqD| — NO. NAME
[ |ANGLE- . 10XI.50X1.50X 13.25 13.250 2.810 0.334|BB2 31385281 PI15C0410
2|[BAR-FLAT 1.00X.12X 7.00 1.000 0.239|B12 21385241 385241
3INUT-HEX .25 P 0.007|EI 911378 1378
4INUT-HEX M8 x 1.25 SST 0.011]EI 41820637 820637
SINUT-UNISTRUT W/O SPRING .38-16 0.086|C4 581802807 802807
6|SCREW-CARRIAGE .25X . 715 0.018|E0 911430 1430
TISCREW-HEX M&-1.25x40MM SST 0.048|E0 81820664 820664
8|SCREW-HEX.38X .15 GRS 0.750 0.043|E0 581802804 802804
9|SHELF-TOP 20"x24.88" 24 875 20.000 5.854|BB2 11385298 PI15C041|
[O|SHELF-TOP 20"x76.38" 16.375] 20.000 [ 7.142|BB?2 11385299 P15C0409
|| |SHELF-TRAY 18"x24" 24.000 18.000 5.183|BB? 61385296 PI5C0418
| 2[SHELF-TRAY 18"x46" 46.000 18.000 9.633|BB2 63852917 P15C0419
[ 3{UNISTRUT ASM-DQUBLE 9.386]|ZA 21385288 385288
[4|/UNISTRUT ASM-SINGLE 6.188|7ZA 21385289 385289
| 5|WASHER-FLAT .38 D-SHAPED 0.007]E? 62816154 816154
|6 |WASHER-FLAT M8 SST 0.007|E2 81820670 820670
| TI{WASHER-LOCK .25 0.002|E2 9113712 1372
|8 |WASHER-LOCK M8 SST 0.004|E2 81820638 820638
[02.1 REF. | 50
C<347 B‘}AW A<347
+ - : y e+
|
i ] nJ
‘ . .
= @B 1 N
| | | N
% i ‘ d N
| | || 60,50 g o
| | ‘ d nJ
| | | |75 4
: : : TYP.
=—24.00 +==——— 46.00 | 28.00 ——= OVERLAP
‘ ‘ : FROM VAN CORNER VAN SIDE
| | | POST SURFACE WALL AT
# : LT I - —F FLOOR
C=— B=— A <—1
101.6 REF. — 5.00
AT FLOOR LEVEL — 2175
EFUF’SBAERNS ‘ T WEiGgA 537 TOLERANCE UNLESS
MLEMQERQM_ALS_LE . OTHERWISE SPECIFIED
RFu‘x "\N‘GAL WATLC TODE 'Xxij/i 060 é“‘% VT Hacknev
TTEN WO SHAPE DESC L XXX=4/-.03 A company of VT Systems
3853172
RAW_ATC ARS oy
0.000 DESCRIPTION | vthackney.com hackneyz.fnzmmiigiﬁcom Vtvisi mm“isioncomnls
DRAWN BY DATE
THEREON ARE' THE PROPERTY O VT HACKNEY AND. IS LOANED LCS || APR |3SHELF ASM-CURBSIDE FORD TRANSIT SHELF OPTION
TO THE RECIPIENT SUBJECT TO RETURN UPON DEMAND. RFPROVED BY DATE TC2
(‘)gssﬁgm%?gg #(R)EOE%F\‘DEEgXF‘iﬁL\EéNEOgUigENgg EiA;?U%?ON UPERSEDE UPERSEDED BY CALCE WG WAWE
COPYRIGHT 2015 VT HACKNEY A COMPANY OF VT SYSTEMS Trev REVISION DESCIPTION ECN DATE  [INITIALS 0.080 P15C0458 Sheet 1 of 4




20.00

SECTION

C-C

% T
5.50
J
5.50
ﬂ
5.50
ﬁ
8.00
J
8.00
60.50
J
8.00
J
20.00
SECTION B-B SECTION  A-A
CTNUF'SB/TN SIT WEiGgA 537 TOLERANCE UNLESS Q“'»
1Ll MELy OTHERi\SE SPECIFIED s = VT Hackn Hm
FINAL XX=4/_.060 ¢m§
eV T SHAPEDESC L XXX=+/-.03 A company of VT Systems
385312
RAW_NATL RS 946+
0.000 DESCRIPTION | vthackney.com hackneyz.fnzmmiigiﬁcom Vtvisi “"'““isioncom“‘s
s 29-Noy- | ||SHELF ASM-CURBSIDE FORD TRANSIT SHELF OPTION

APPROVED BY

DATE

“TC2"

TPERSEDE

UPERSEDED BY

CALE

0.200

DWG NANE

P15C0458 Sheet 2 of 4




SEE DETAIL A

TYP. SHELF HARDWARE
DETAIL C
SCALE 0.800

/ SEE DETAIL C
|/\‘ IH‘I

DETAIL A
SCALE  0.500

CRUWBER WETGHT
TRANSIT | 154,537 |omtinse swicifioo S‘"Z VT H k Hackney
RFU\T ‘FNIGAL N CODZEA JXh=4l.. 060 7m§ ac nev

TTEM WO SHAPE DESC L XXX=+/-.03 A company of VT Systems
385312

RAW_WATC HRS 252-946-6521

0.000 DESCRIPTION | vthackney.com hackney.com kidroncom  vtvisi “"'““isioncom“‘s
s 59 -Nov - | |ISHELF ASM-CURBSIDE FORD TRANSIT SHELF OPTION
APPROVED BY DATE TCZ"

0.125 P15C0458 Sheet 3 of 4




SEE DETAIL

DETAIL D
SCALE  1.000

SEE DETAIL B

INSTALL FLAT BAR
UNDER FLOOR AS
RE INFORCEMENT

DETAIL B
SCALE  0.500
TYPICAL BOLT

THRU FLOOR

/

CNUMBER WETGHT

TRANSIT | 154,537 |ofthmst seicirioo

AVsp Hackney
?WN%L MMW%A KX=+7_.060 i%“ér "_rliii!‘:l('le;"
gESM %03 ¥ SHAPE DESC L XXX=4/-.03 A company of VT Systems Kuﬂn

e " 0.000 DESCRIPTION | vthackney.com hackneyz.fnzn;ngiﬁcom Vivisi mm“isioncﬂmlﬂs
'cs 59 -Nov - | |ISHELF ASM-CURBSIDE FORD TRANSIT SHELF OPTION
RPPROVED BY DATE “TC2"

tttttttttttttttt BY CALE DWG NANE

0.125 PI5C0458 Sheet 4 of 4




